
As	
  always,	
  iden-fying	
  the	
  
direc-on	
  of	
  accelera-on	
  
(centripetal)	
  is	
  all	
  important.	
  	
  
In	
  this	
  case,	
  it	
  will	
  be	
  in	
  the	
  
horizontal,	
  leaving	
  our	
  f.d.b.	
  
to	
  look	
  like:	
  

F∑ y
:

        N cosθ − mg = may

        ⇒    N = mg
cosθ

 

1.)	
  

Problem	
  6.42	
  

θ

mL

N

y

x

mg

center
seeking

Ncosθ

Nsinθ

F∑ x
:

        Nsinθ = mac

                   = m v2

L cosθ

    ⇒    mg
cosθ
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L cosθ
          ⇒    v = gLsinθ( )1
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